
596

This question paper contains l6+8 printed pages]

B.Com. (Hons.)ill

Paper Code : B-102

Paper lX--{OST ACCOUNTING

Time '. 3 Hours Maximum Marks : 55

(ll'rite |ottr Rotl No. on the top innetliatels' on receip! of this question paper'1

Note '.- The maximum marks printed on the question paper are

applicable for the students of the regular colleges

(Cat.-A). These marks will. however, be scaled up

proportionately in respect of the students of NCWEB/

SOL at the time of posting of awards for compilation of

resu lt.

Note :- Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

paper.

P.T.O.

G



(2) s%

frnqofr:- {€ vFT-q'{ sT TtR oiffi w 64 ffi {4q s{ql

d {iFqq; AP*.{ €rfi strd 6T qn4q \'*, fr Et{l

=rRqr

Attempt l// questions'

srfr sqq elfqq t

Distinguish between Cost Accounting

Accounting.

and Financial
\q)

(b) A company manufactures a product having a monthly

demand of 2000 units. For one unit of finished product'

2 kg of a particular item of raw material is needed' The

purchase price of the material is Rs' 20 per kg' The ordering

cost is Rs. 120 per order and the holding cost is l0%o

per annum. Calculate :

Economic order quantitY, and

Annual cost of purchasing and storage of the raw

material at that quantitY. 6

(,)

(ri)



(3 )

Or

\a) Mention the factors rvhich should be considered in

installing a costing system in an organization'

(b) Prepare a Stores Ledger Card. using the FIFO method

of issue pricing. on the basis of the following

5%

Sept. I

l0

l5

n

5

1\

infonnation :

Opening stock

lssued

Purchased

I ssued

Purchased

Received back in store :

I ssued

20 units @ Rs. 2

l0 units

30 units @ Rs. 4

30 units

40 units @ Rs. 5

l0 units which rvere

on lOth Sept.

20 units

P.T.O.



(4)

(e') errra dqrq-rq 3th ffiq ds,rrq i

Tdr{q I

(€) q{ # O* sflK sl FfituT qrfi t fiilffii qi'I

zooo lFra qTkfi tr lP {f{c 4l tqn e.{i i

qe, ffiw +q e1 qd qro * s'q d z t*lr. e1

silqqq?Fdt €tfr tr gs qtlri q1 qq fttqf, 20 F'

efr fs'Jr. trqv*1 eTGRI-drrd 120 F. efr sTrevr

t *{ qrcot drrff, tox qfr ed t r qRq6{ elfqq :

(r) erTieffi err*n qrxt

(,r) frfi r+r*r t q-d rne qi s0rEi 3t{ {slrur

q1 qffi-fr €rrm I

(;n) d'ren il ern-frqi{"I qGft rqlkd 6ti q fq{

6r€ii q1 fr-qmsfu rcrT qri6q s+m sads

qffiqq 
t
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(s) se6

(€) qr0-qtgrtr{ q1 ptro frlq e;r e*rr q.r* fmfoFsn

qq{r€fli * oTI$IR qr eir{ dw q-re i?TR

qifqq :

ro ,. qfi

rs. r*0'ET

20 ,. qni

25 ,. q0-fr

r fudqi 3mfsffi €ffi : 20 {F{a z t' qi < t

: lo {fTe

: 30 {F{e"l {. 61 Et t

: 30 {Fra

:ao{FrasF.41 <tt

2s.. {ft ii ffqs stq : ro{fTefwt rofiKiE{d

qRl f6qt rrufi e[

28 .. qrfr : 20 {F€

2. fu) State the purpose served by Time-keeping and Tinte-

booking records of a factorY' 5

P.T.O.



5%(6)

(b) In a factory. the manut'acturing overheads are recovered

at a Predetermined rate of Rs' | 5 per labour-hour. The

total factorY overheads incurred and the labour hours

actually worked during the year 2013 were Rs' 40

lakhand2lakh|abour.hoursrespective|y.outof40'000

units produced during the year 2013' 30'000 units were

sold.

On analyzing the reasons' it was found that 60Yo of

the unabsorbed overheads were due to defective planning

and the rest were attributable to increase in overhead

costs.

How would You treat

during 20 13 in cost

the unabsorbed factorY overheads

Or

What is labour turnover 'l What are its catlses 1

accounts ?

(c)



(b)

(7) 5%

From the lbllowing particulars for a particular month,

calculate :

The anrount ofcash required for payment ofwages

for the rnonth. and

(tt Total labour cost to the employer lbr the month.

(/)

Wages for normal hours worked

Wages for overtime rvork

Leave wages

Rs. 60.500

Rs. 12.200

Rs. 4.700

Rs.6,100

Rs.4,400

Employee's PF subscription

Employer's contribution to PF

House rent to be recovered from 30 employees @ Rs. r00

6p.m.

(6) ffi
st{q

* zr{q-BlFirr etr ?r{q gf{i'T fi6rd t sr

$r frI t, Bds qtFqq 
r

P.T.O.



(8) s%

(€) 1rs ffi i fi"t riti* wfi:qdi ql rs F' Yfr

arq d) s-i TdF{*ItRa <t t eqn fuur qrar t r

+ryi * gRT tsq rq E-f, wFcqq *t qof zor:

+ dr{q qrkn ii q.rq * qq =it xqql' 40 ql-s

F. efu 2 dl€t xq-d) * r ed zot: i TcTTRd 40.000

1Frd d t :o,ooo 1ffi ffi ql1

qroil or ffiqsr qri qr rrdctil qer f*' eriTE{ilfrf,

sqFrq?it sT 60% M 31T+q'{ d q-nq qr gtr

tq sl'Fte"q €Fkii i qna * e.nq IFTI qT sFf,I

*,
bl

srrt 2013 * frfi 3mEntfu"d ffi 3qfi@tit 6l

orra tcit t *n futn ?

3TSrEt

(q) e{fufi e+rqd wr *-dT t ? sr* wr o'nor t ?



-----:=::----=--- -" -

(e) s%

(€) qq, €rq {Si * fu fiqfdfun t qf{*.tr{

qlfqq :

(,) em * ;q qwqRd 6i 3l_<rqfi * f{n{d

irdg {RI e1 eirqrqmnt

(,,) crd * ff,q fiffiI 41 {d erq-errkl I

qrqrq i2 orq q-{i + fmq c-tr(R=fi 60's00 t'

€ffi 6rq t iq rw$.fi l2'2oo{'

iffi*'rql q1 q{q it {q(Rtfi 4,700 {.

6.100 {.
6ffi urFq f{ir riEr

fi*fil 61 qfrq-fTFr i {rrr<rq 4'4oo €'

lo 6ffitit t r5-t*lmr 100 E' sid qr€ qt <{

t q{o 'rq t

3. (a) Calculate Labour Hour Rate from the following I 5

Total No' of workers 
100

Working daYs in a Year

P.TO.



5%(10)

per day

(b) The works cost of a certain article is Rs' 400 and the

selling price is Rs' 800' The following direct selling and

distribution expenses were incurred :

Working hours

ldle time

Factory overheads

Gift to workers

Freight

lnsurance

Commission

Packing cases

5o/o

Rs. I,14,000

Rs. 1,000

Rs. 40

Rs. l0

Rs. 60

Rs. l0

The estimated fixed selling and distribution expenses for

the year were Rs' 30'000 and the estimated value of sales

for the Year was Rs' l'50'000'

You are required to calculate the total cost of the article

using the method of percentage on sales to recover fixed

selling and distribution expenses ' 6



( ll )

&

A company manufactures two products P and Q, using the same

equipment and identical processes. An extract of the production

data for the year 2014 is as follows :

596

Units produced

Direct labour hours Per unit

Machine hours Per unit

Total number of set-uPs

PQ

5.000 7,000

t2

.!
JI

l0 ,CI

Total number of orders handled 15 ffi

Annual overhead costs are :

Relating to machine activitY 220,m0

Relating to production set-ups 20'000

Relating to order handling 45,000

2,85,000

Rs.

P.T.O.



(12)

You are required to calculate the production overheads to be

absorbed per unit of product P and Q using :

(,) the traditional absorption costing based upon direct labour

hours, and

(tD an activity based costing approach'

(q) frqteflga t arq =ia <r u;1 qfw6{

qffidt e1 q€ {@l

qc' e{ i o'd{fr( f<r

qfrffi qrdrfr€ dz

fqfsq qqq

ll

dfqq

100

300

8

qH * 3qf{qq

el eq€n

I,14,000 t.

I,000 F.



( t3 )

(€) \rfi farlv +q ni qq6 e1 errra 400 Fqq t fr
ss+1 kfrq q?qo soo r. tr 6q66o neeT fuh1

efu t*or"r s{ t*-q Tq :

qrmq-sr

Eiqr

*.mqrq

ifdq * +s

40 F.

l0 F.

60 {.

r0 F.

qts q6f * fuq ergqrfr"-d pzffi ft-fiq d?.n

ls-fi"r Eqzr 30,000 {. Eq *r gs q{ *.i srgTfft

f+*q {rRT r.5o,ooo r. S r

qTqs] Ten-qt furq nqr flffi{q sd 6} +qn q.ri

* fdq, ffi vt yfrqTildr frlrr +'T e,+.r *.r* erq

mi Ee Errrcr rbT qkfiTT elgr t r

P.T.O.



(t4)

STer€lt

\rfi ,#rfi p si-r a fr s€dt ql Fniur qfr 6 3qw"{

q1 rfrq d tfil $q q{sq sirqpii arn qtfr tr
qd zor+ * fctq rfqr*T 3tH mT fiTqd 5s FFR

t,

{f€ TnrRd

vfd 1F€ q-sql ,rq-Eit

sfd {F€ q{h{ EA

+c-eTql +1 qe riwt

* toq 'rq en*it q1 {@l

qrtr-*' sqF@q ent i t :

rl{frq q+ 
'TRTfqf}rdi 

g {aifw

sdntrr tz-e{q t {aifem

errtvr q1 1n mti t iaiftrc 45.000

2,85,000

59('

l5

F.



( ls )

ertr+1 trafufqfr qr Y*q q'r*

5%

pehqsenelqfr

(r)

{Fre erdntfrd velrfi sqfied fl qftdFf,r q'r* t :

rsq{ eTq-=id.n enqrfra qtqtrrrd erdqtcrur €rrm-

frqkq .r6fd

(rr) qidfrfq eTrqrftfr errn-frqtrq trgft t

(a) A city municipality arranges for the removal of garbage

by means of motor vehicular transport' The following

vehicles are maintained :

No. of Vehicles

30

4

Specilications

5 tonne lorries

3 tonne lorries

On an average each lorry makes 5 trips a day and in

each trip covers an average distance of 6 kms' Each

lorry carries garbage weighing only 50% of its capacity'

Taking an annual average lDoh of the lorries are laid up

P.T.O.



(b)

(16) 596

for repairs every day. Assuming that a month consists

of 30 days, calculate the cost per tonne-km for removal

of garbage if the total monthly operating expenses are

Rs.2,18,700,

A company maintains separate cost and financial accounts,

and the costing profit for a particular year differed to that

revealed in the financial accounts. Profit as per financial

accounts was Rs. 50,000. The following information is

available :

(/) Stock Values :

Financial

Accounts Accounts

Cost

Opening stock of raw materials

Closing stock of raw materials

Opening stock of finished goods

Closing stock of finished goods

5,000 5,500

4,000

12,000

14,000

5J00

15,000

r6,000



( 17 )

Dividend of Rs. I,000 was received by the

(tii) A machine with net book value of Rs. 10,000

sold during the year fbr Rs. 8.000.

The company charged l0%o interest on its opening

capital enrploy,ed of Rs. 80,000 ro its process costs.

You are required to determine the profit as per cost

accoullts.

Or

Fronr the following inforrnation prepare the process accounts,

normal and abnormal wastage accounts and abnormal effectives

account : il

Process A Process B Process C

)96

co.(ii)

(nJ

Raw nraterials input

(2.000 units)

Direct rvages

Manufacturing

overheads

Rs. 10.000

-5.000

4.680 2.90

15.000 r0,000

3,600

P.T.O.



( 18 ) 5%

Normal wastage

(% of input)

Realisable value of

\Yastage p.u.

Output (Units)

1tr/olU/o2%

Rs. 2

t%0

Rs. l0

1700

Rs. l0

t550

(4.) q{ Yrfl q-T nq-q f{rrq *c{ qTfud 
'nfe?ii * qR'q

rrifqr 6z16-{ ss* qnq6{ q6l q46W qr<r t r

Frqiofiqf, 'Tr .fsfi $1 rerc€ntN rel qnr t :

rn .H * dqr Fqftrtzqf

5 a 41 drkf

3 a s1 diFd

s+rsn{ r*fi drfr qfi Rr ii s fr ffifr t 3tt

re6 fi t otTqnc 6 m. 41 qfr rq frfr tr

rdq' dR1 siqfi qrrrdr sl *{f, 50% r{R qA rda

*l A qrfr tr erffq' e+rqd r0% drFrfi 6t ffi



(le) 
5s6

rRETd * fdq €-$ rc-fr t r qo qrftr.r f*' qtti
i :o fEq dA t, Rra d Erri * feq sh ?r
ffi. 6;q6 w qftftn efltqq eR q_d qrRr*.

rqrmr q{ z. r8,7oo F. n} r

(€) \rs' q+fr dFra eh ffiq +c; qfr gv-e; rwfi
t 3fu urs ed * firq drr6n 111q, frf,tq dcii
if e-mz er.ra * frla tgr q=n tr ffiq +rit
* oqvn drsr 50,000 F. q1l faqfufuq {sn(
sq-cr*t t :

(/) ei+- +l qaq :

Errra+qr fufrq*qT

o-d qro ol qrnrq. €fs

qrrfr ry6 q;r eifrq em

tqn qre ql einfir* elr
*qn qro sT 3ifrs 96

(r.)

5,000

4,000

12,000

r4.000

(r.)

5,500

5.300

r5.000

r6.000

P.T.O.



(20) se6

rrqfi dt t"ooo F. drqivt sIK g3{ ql I

lo,ooo {. f{dm rarar qn eTd qvfr{ s} {q

qtfi 8.ooo t. ii i-q Rql qT I

;g-ffi 1 80,000 t. e1 q'Iri Ti sTrfi sTnfsr*.

{el w lo% qttT ftr+ d i*. 3qi qffrqT

errra * sq il trqTi qi | 3flqft1 orra t<it

* ergsn eTs{ sl f{qi{oT 6-54 }1

SrsrEt

tmfcfisd qqqrcfi t eftql &, qrqrq *t ersrqrq

Efi=sq ffi 3frq erffqFq ssTrd & tqru sitqq :

qfu"fi I qfurn n qfri[T c

(il)

(ili)

(tr)

o-€ qro er friqr

(z,ooo {F€) Rs. lo,ooo

yeqq{ q-q{H s,om l5'ooo

fiTciq * gqftqq 4.680 2.&o 3.600



(21 )

€rEne{ Etrqq (fiTfur

6t %)

diqq e'fr qFre m

e{d A@

T€r({ ({f{z)

The following infonnation

Rs. 10.00,000:

Materials issued

Plant issued

Wages

Overheads

Work certified

596

1U/olU/o

2F.

l960

relate

l0 F. l0 F'

1700 1550

to a buitding contract for

2012 2013

(Rs.) (Rs.)

3.00,000 84,000

t4,000 2,000

2,52.ffi0 1,15,000

6,000 1,400

7,50,000 10,00,000

P,T.O'



(22 )

Work uncertified (cost)

Materials at site at the end

Value of the plant at the end of

the year

Cash received from contractee

8,000

5.000

7.000

6,00,000

5%

7,000

s.000

10.00,000

You are required to prepare contract account and contractee's

account for the two years taking into account such profit for

transfer to profit and loss sccount as you think proper' ll

Or

How will you treat profit on incomplete contracts in cost

accounts ?

What is meant by 'lnter-locked' and 'lntegrated' System

of maintaining Cost and Financial Accounts ? Which one

would you advice to adopt and whY ?

(a)

(b)



(2i ) 5%

nerfoRsa {fiT( 10,00.000 t' 61 rr+q {ffl * qrt ii

*a.

€'rc.n qTt 4i 'ri

sqR-qq

qrq vgtFrc

2012 2013

(F.) (F.)

3,00,000 84'000

14,000 2'000

2,52.000 l.l5'000

6.000 1.400

7,50,000 10,00'000

{i.i" qd

qq'Rzfi

olq erssrRa (qrrd) 8'ooo

3id fr €Tqfi qr€ q{ 5.000 1,000

ed + 3id i ririz oT qst 7'ooo s'oito

rifqil t qrq i-s-s 6.00.000 10,00,000

3ilqql Ei qd er *if<r Asr 3fo {iffi dqr i3 drq

d, crq 3t{ 6rf{ nd ii eiffia q.{i * frdq fr€Tq it

tfi{ fuR c-rn tr
P.T.O.



(24 )

sTerqT

(s) s{rq q1:i {f€eit 'R ers{ 4l ern taii d +d

tuii ?

(€) dlrrd e+{ ffiq ffi q1 ffii it laoT+s eEr

€ti*-d r6fr t o+q Ffi qwa t ? e+rq fo-s

q6fr q1 sTtrdli *1 vent ?t eik *if ?
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